MMP quiz paradise offline - group work #2

Name#1: Name#2: Name#3: Name#4:

(—) I, G5, 255
1. FHE IR EAE © — 0T BWPRR? ()
(A)Jo(z) (B)No(z) (C)Po(z) (D)jo(x)
2. LI NRE—ETRRW AL YL — a2 T4 = ORIR? ()
(A)sin(akt) cos(kx) (B)sin(akt)sinh(kx) (C)(x + at)? (D) (x — at)?
3. ©F1 f(z) =52% — 22+ 1, LRI AETE? ()
(A) [1, f@)P2()de (B) [, f(x)Ps(2)dz (C) [1, f(@)Pa(w)de (D) [1, f(a)Ps(x)dr
4. f(t) (¢ = O)BERD TS — L/ + (42 — &) f = OLARWIIRFAE£(0) = 0, W () FAFFIBAARIEL? ()
(A)tJs5(t) (B)t2Ja(t) (C)tJ3/2(t?) (D), 5(t%)
5. WU [0 () de HFED? ()
(A)0 (B)1 (C)e (D)m
(Z) I8, G255, #7555
(1) HWHERE T MG EMHEEE C = {z: |z — 3|+ |z + 3| = 10} BIFHS
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RS TERIEIRE, &P AL B AR ) MRS

ul,_g=AJ (%) cosf

HAir A, p BIRGERIEREZSE -

(a) B HERERE R NMRIFEE o 71 )\ o BIXR (BEESER, ALEHRSTR) -
(b) 5 HE RS [/ ML w(r, 0, t) TR RRFI R -

(c) % u BALALCIE ELLR), MIBDFFEEE p LA RS -

(d) K& u(r,0,t)-



(3) H_;%Tf? (r,0,2) B r <1, =1 <2z <1 R T — D50 BIEFEARET & 002 8] X8 . BR7E S R A A ) 22 18 7
REEN

1 1
Thr=1 =To (\/22—4z+5 + \/22—1—424—5) ’
HATyoh & . FREHIEE N REEEEE S

1 1
Tle=tr = To (\/T2+1 - = +9) '

THREFE R BO7R B HIFS E 70 -
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T'(2z2)
!
Ju ()
N, (z)
% [2" Z, (z)]

d

= [zf"Zl,(x)]

Zy—1(x) = Zy41(x)
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Ju ()
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Jm ()
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n;(z)

Yém(‘gv ¢)

Py (cos )

Py(x)

Py(z)

P2n(x)

Pany1(2)

Py(x)
(26 4+ 1)zPy ()
(20 + 1)Py ()

/711 P (z)P,, (z)dx
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Ptz(nl . nz)

™

sin(mz)’

2o (s 1),
Vorx (z)m, (Rex > 1)

O (71)k‘ 2\ 2k+v
kz:%k!F(kJrqul) (5) ’

lim Jo(z) cos (am) — J_q(x)

a—v sin (ar)
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—x" " Zyy1(2),
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